Exponent problems

1. x0x7 = x13
y9
2. F = yS
3. (3y)? =9y?
4. (515570 =1
X 5 x5
5. (5) =%
6. (y10)20 = 5200
7. x12.x3.x%2 =xV
8. (4y?)? = 16y*
w14
9. (xj) = x8
5,,12
10. ’;93;3 = x2y3
11. y10 + y3=y7

12. x8 x y8 = (xy)8
13. y8 Xy x y6 + y15 =95
14, ((x10)10)10 — ,1000

43xy3
15—~ = 8y*
1. a?a®=ad’
b7
2. b_4 == b3
3. (2a)? = 4a?
4. (23p7)° =1
3+ 3¢
5. (2) =%
6. (b?)3 =b°
7. a?-a*-a?° =qa?°
8. (3b%)? =9b*
al? 2
9. (a_s) = a8
a5b10
10. —5 = a’b?
11. b® =+ b*=p2

12. (2a)® x 3% = (6a)°®

13. b* X b® X b® =+ b* = p!?

14. ((a*)%)? = a*°

15. 222 _ gg2
3
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